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-I'ime: 3 hrs.

Third Semester B.E. Degree Examinationrllan./Feb. 2023
Electric Gircuit Affdysis

Note: Answer any FIVE full questions, choosing ONE full questionfrom each module.

a. Using source transformation and
in the Fig.Ql(a).

Fig.Q1(a)
b. Using star delta t*insformation find equivalq.nt rdsistance
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Mp,dlr,lts1

sourcdlrsliifting techniques, find vo'ltage across 2C) resistor

Max. Marks: 100
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(06 Marks)
between AB in the Fig.Ql(b).
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Fig.Ql(b) q+
lJse node analysis and find the value of V*
through the impedance (2 + i3)f) is ,ero.

Iie.Ql(c)
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F,ie.Q2(b) '

Explain with circuit diagram
circuit.

c
how to find loading effect of different
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(08 Marks)
such that the current

(06 Marks)

(06 Marks)

(08 Marks)
voltmeter in an electric

(06 Marks)
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Fig.Q2(a)
b. For the netwbrks shown in Fig.Q2@-find the node voltages Va and Vc.
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IVIoduIe-2
3 a. State and explain superposition theorem.

b. Obtain the Thevenin's and Norton's equivalent circuits at terminals

the current through 10O resistor across AB in the Fig.Q3(b);
Ats
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(06 Marks)
lor network. ltind

Wj

c.

Fig.Q3(b)
Using Millman's theorem,
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Fig.Q+(b)
Find the Teverlifi::s,,+quivalent

r$irt'' I

of the tw.oik shown in FiS€4(c).

(08 Marks)

(06 Marks)

(06 Marks)

(08 Marks)

(06 Marks)

(08 Marks)
factor, bandwidth,

(06 Marks)

find
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tlfi aen Rr for the network shown in Fig.Q3(c).
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mhximum power transfeb,,6thebrem for AC network.
C alcu late,,1!,,,and veriff rec iprocity theorem' for the F ig. Q4(b).
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Module-3
a":,,,. Explain parallel,go.p.b-iflBnce. Derive the condition for parallel resonance when RL connectcd

".,., ,. (06 Marks)

moved form position I to 2 at t =. 0 for

initially uncharged.
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c. A series.Rl€ circuit has R = 4 A,L : 1 mH and C = 10 pF. Calculate Q

resona4.t"fuquency and the half power U.OTffiTr fr and fi.
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What are initial conditions? Show the behavior.pf\R}L, C elements at the time of

In the network shown in Fig.Q6(b) V: 10V, R, ]OO, L: 1H, C : 10pF and Vc(0) : 0.

c. Derive the expression''ffue'qtality t'actor (Q - tacto@Jn a parallel
utility in comparing resonant circuits, selectivity.

Module-4
7 a. State and prove.iaitial and final value thpo*era.

b. Find the l,apace transform of the wave form shown in Fig.Q7(b).

Find i(0.), fr9ro.l uro4+(0")
dt2 
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-oil) r(t) = 5u(t) - Je - .
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(06 Marks)

OR:
Find the Laplace,*a*hrm of unit step,.,unit impulse and unit ramp functions. (06 Marks)
Find initial and fihal:values of following functions :

(06 Marks)

c. Determine the Laplace transfor,,m of the periodic saw tooth waveform. Shown in Fig.Q8(c).

(08 Marks)

Fig.Q8(c)
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(06 Marks)

(08 Marks)
(06 Marks)

(10 Marks)
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c. Derive the relationship

ig.Qe(b)
ission andZ - paranreters.

b.
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